

Derivatives Formulas involving I-function of two variables and generalized M-series

Y. Pragathi Kumar¹, Gebreegziabher Hailu², Alem Mabrahtu³, B. Satyanarayana⁴

Department of Mathematics, College of Natural and Computational Sciences, Adigrat University, Adigrat, Ethiopia ^{1,2,3}

Department of Mathematics, Acharya Nagarjuna University, Nagarjuna Nagar, India⁴

Abstract: The objective of this paper is to establish some derivative formulae of I-function of two variables involving generalized M-series. The special cases of our derivatives yield interesting results.

Keywords: I-function, Mellin-Barnes contour integral, generalized M-series.

1. INTRODUCTION

Recently, Satyanarayana et al. [9, 10] are obtained some differentiation formulae for I-function of two variables with general class of polynomials and Struve's function. In the present paper we establish derivative formulae of I-function of two variables involving Generalized M-series. We shall utilize the following formulae and notations in the present investigation. The I-function of two variables defined by Shantha Kumari et al.[13] (and also see Satyanarayana et al. [12]).

$$(1.1) I[z_1, z_2] =$$

$$\frac{\Gamma(0, n_1; m_2, n_2; m_3, n_3)}{\Gamma(p_1, q_1; p_2, q_2; p_3, q_3)} \left[\begin{matrix} z_1 (a_j; \alpha_j, A_j; \xi_j)_{l, p_1} \\ z_2 (b_j; \beta_j, B_j; \eta_j)_{l, q_1} \\ (c_j; C_j; U_j)_{l, p_2}; (e_j; E_j; P_j)_{l, p_3} \\ (d_j; D_j; V_j)_{l, q_2}; (f_j; F_j; Q_j)_{l, q_3} \end{matrix} \right]$$

$$= \frac{1}{(2\pi i)^2} \int_{L_s} \int_{L_t} \phi(s, t) \theta_1(s) \theta_2(t) z_1^s z_2^t ds dt$$

where

$$\phi(s, t) = \frac{\prod_{j=1}^{n_1} \Gamma^{\xi_j} (1 - a_j + \alpha_j s + A_j t)}{\prod_{j=n_1+1}^{p_1} \Gamma^{\xi_j} (a_j - \alpha_j s - A_j t) \prod_{j=1}^{q_1} \Gamma^{\eta_j} (1 - b_j + \beta_j s + B_j t)}$$

$$\theta_1(s) = \frac{\prod_{j=1}^{n_2} \Gamma^U (1 - c_j + C_j s) \prod_{j=1}^{m_2} \Gamma^V (d_j - D_j s)}{\prod_{j=1}^{p_2} \Gamma^U (c_j - C_j s) \prod_{j=m_2+1}^{q_2} \Gamma^V (1 - d_j + D_j s)}$$

$$\theta_2(t) = \frac{\prod_{j=1}^{n_3} \Gamma^P (1 - e_j + E_j t) \prod_{j=1}^{m_3} \Gamma^Q (f_j - F_j t)}{\prod_{j=1}^{p_3} \Gamma^P (e_j - E_j t) \prod_{j=m_3+1}^{q_3} \Gamma^Q (1 - f_j + F_j t)}$$

where $n_j, p_j, q_j (j = 1, 2, 3), m_j (j = 2, 3)$ are non negative integers such that $0 \leq n_j \leq p_j, q_1 \geq 0,$

$0 \leq m_j \leq q_j (j = 2, 3)$ (not all zero simultaneously). $\alpha_j, A_j (j = 1, \dots, p_1); \beta_j, B_j (j = 1, \dots, q_1),$

$C_j (j = 1, \dots, p_2), D_j (j = 1, \dots, q_2), E_j (j = 1, \dots, p_3), F_j (j = 1, \dots, q_3)$ are positive quantities. $a_j (j = 1, \dots, p_1), b_j (j = 1, \dots, q_1), c_j (j = 1, \dots, p_2), d_j (j = 1, \dots, q_2), e_j (j = 1, \dots, p_3)$ and $f_j (j = 1, \dots, q_3)$ are complex numbers. The exponents $\xi_j, \eta_j, U_j, V_j, P_j, Q_j$ may take non integer values.

L_s and L_t are suitable contours of Mellin-Barnes type. More over, the contour L_s is in the complex s -plane and runs from $\sigma_1 - i\infty$ to $\sigma_1 + i\infty$ (σ_1 real), so that all the poles of $\Gamma^V (d_j - D_j s) (j = 1, \dots, m_2)$ lie to the right of L_s

and all poles of $\Gamma^U (1 - c_j + C_j s)$ ($j = 1, \dots, n_2$), $\Gamma^{\xi_j} (1 - a_j + \alpha_j s + A_j t) (j = 1, \dots, n_1)$ lie to the left of L_s . Similar conditions for L_t follows in complex t -plane. The detailed conditions of this function can be found in Shantha Kumari et al.[13].

The Generalized M-Series is defined by Sharma and Renu[16] as

$$(1.2) M = M \begin{matrix} \alpha, \beta & \alpha, \beta \\ p & q & p & q \end{matrix} (a_1, \dots, a_p; b_1, \dots, b_q; z)$$

$$= \sum_{k=0}^{\infty} \frac{(a_1)_k \dots (a_p)_k}{(b_1)_k \dots (b_q)_k} \frac{z^k}{\Gamma(\alpha k + \beta)}, \quad z, \alpha, \beta \in \mathbb{C},$$

$\Re(\alpha) > 0.$

Series is convergent for all z if $q \geq p$, it is convergent for $|z| < 1$ if $p = q+1$ and divergent if $p > q+1$. Where $p = q+1$ and $|z| = 1$, the series convergent

$$\text{in some case. Let } \beta = \sum_{j=1}^p a_j - \sum_{j=1}^q b_j$$

It can be shown that when $p = q+1$ the series is absolutely convergent for $|z|=1$ if $\Re(\beta) < 0$. Conditionally convergent for $z = -1$ if $0 \leq \Re(\beta) \leq 1$ and divergent for $|z|=1$ if $1 \leq \Re(\beta)$.

$$(1.3) \quad D_x = \frac{d}{dx}$$

$$(1.4) \quad D_x^r f(x) = \frac{d^r}{dx^r} f(x)$$

$$(1.5) \quad (xD_x)^r f(x) = \left(x \frac{d}{dx}\right)^r f(x)$$

$$(1.6) \quad (D_x x)^r f(x) = \left(\frac{d}{dx} x\right)^r f(x)$$

2. MAIN RESULTS

In this section, we establish some derivative formulae of I-function of two variables involving generalized M-series.

Theorem 1. Prove that
(2.1)

$$D_x^r \left\{ M_{l,m}^{\alpha,\beta} (a_1, \dots, a_l; b_1, \dots, b_m; ax^\lambda) I[z_1 x^{h_1}, z_2 x^{h_2}] \right\} \\ = \sum_{k=0}^{\infty} \frac{(a_1)_k \dots (a_l)_k}{(b_1)_k \dots (b_m)_k} \frac{a^k}{\Gamma(\alpha k + \beta)} x^{\lambda k - r}$$

$$\left[\begin{matrix} 0, n_1 + 1; m_2, n_2; m_3, n_3 \\ p_1, q_1 + 1; p_2, q_2; p_3, q_3 \end{matrix} \left[\begin{matrix} z_1 x^{h_1} | (-\lambda k; h_1, h_2; l), (a_j; \alpha_j, A_j; \xi_j)_{1, p_1} : \\ z_2 x^{h_2} | (b_j; \beta_j, B_j; \eta_j)_{1, q_1}, (r - \lambda k; h_1, h_2; l) : \\ (c_j, C_j; U_j)_{1, p_2}; (e_j, E_j; P_j)_{1, p_3} \\ (d_j, D_j; V_j)_{1, q_2}; (f_j, F_j; Q_j)_{1, q_3} \end{matrix} \right] \right]$$

Where z, α, β and λ are complex numbers and h_1, h_2 are real and positive.

Proof. To prove this theorem, we consider

$$D_x^r \left\{ M_{l,m}^{\alpha,\beta} (a_1, \dots, a_l; b_1, \dots, b_m; ax^\lambda) I[z_1 x^{h_1}, z_2 x^{h_2}] \right\}$$

Expressing I-function of two variables as contour integral (1.1), generalized M-series (1.2) and evaluating derivatives with help of the notation (1.5), we get

$$(2.4) \quad D_x^r \left\{ M_{l,m}^{\alpha,\beta} (a_1, \dots, a_l; b_1, \dots, b_m; ax^\lambda) I[z_1 x^{h_1}, z_2 x^{h_2}] \right\}$$

$$= \sum_{k=0}^{\infty} \frac{(a_1)_k \dots (a_l)_k}{(b_1)_k \dots (b_m)_k} \frac{a^k}{\Gamma(\alpha k + \beta)}$$

$$\frac{1}{(2\pi i)^2} \int_{L_s} \int_{L_t} \left\{ \varphi(s, t) \theta_1(s) \theta_2(t) z_1^s z_2^t \right.$$

$$\left. \times \prod_{j=0}^{r-1} (\lambda k + h_1 s + h_2 t - j) x^{\lambda k + h_1 s + h_2 t - r} \right\} ds dt$$

Now it is easily express that [13]

$$(2.5) \quad \prod_{j=0}^{r-1} (\lambda k + h_1 s + h_2 t - j) = \frac{\Gamma(1 + \lambda k + h_1 s + h_2 t)}{\Gamma(1 + \lambda k + h_1 s + h_2 t - r)}$$

Substitute (2.5) in (2.4), we get required result.

Theorem 2. Prove that

$$(2.6) \quad (xD_X - k_1)(xD_X - k_2) \dots (xD_X - k_r)$$

$$\left\{ M_{l,m}^{\alpha,\beta} (a_1, \dots, a_l; b_1, \dots, b_m; ax^\lambda) I[z_1 x^{h_1}, z_2 x^{h_2}] \right\} =$$

$$= \sum_{k=0}^{\infty} \frac{(a_1)_k \dots (a_l)_k}{(b_1)_k \dots (b_m)_k} \frac{(ax^\lambda)^k}{\Gamma(\alpha k + \beta)}$$

$$\left[\begin{matrix} 0, n_1 + r; m_2, n_2; m_3, n_3 \\ p_1, q_1 + r; p_2, q_2; p_3, q_3 \end{matrix} \left[\begin{matrix} z_1 x^{h_1} | (k_j - \lambda k; h_1, h_2; l)_{1, r}, \\ z_2 x^{h_2} | (b_j; \beta_j, B_j; \eta_j)_{1, q_1}, \end{matrix} \right] \right]$$

$$\left[\begin{matrix} (a_j; \alpha_j, A_j; \xi_j)_{1, p_1}; (c_j, C_j; U_j)_{1, p_2}; (e_j, E_j; P_j)_{1, p_3} \\ (1 + k_j - \lambda k; h_1, h_2; l)_{1, r}; (d_j, D_j; V_j)_{1, q_2}; (f_j, F_j; Q_j)_{1, q_3} \end{matrix} \right]$$

Where z, α, β and λ are complex numbers and h_1, h_2 are real and positive.

Proof. To prove this theorem, we consider

$$(xD_X - k_1)(xD_X - k_2) \dots (xD_X - k_r)$$

$$\left\{ M_{l,m}^{\alpha,\beta} (a_1, \dots, a_l; b_1, \dots, b_m; ax^\lambda) I[z_1 x^{h_1}, z_2 x^{h_2}] \right\}$$

expressing I-function of two variables as contour integral (1.1), generalized M-series (1.2) and evaluating

derivatives with help of the notation (1.5), we obtain

$$(2.7) \quad (xD_X - k_1)(xD_X - k_2) \dots (xD_X - k_r)$$

$$\left\{ M_{l,m}^{\alpha,\beta} (a_1, \dots, a_l; b_1, \dots, b_m; ax^\lambda) I[z_1 x^{h_1}, z_2 x^{h_2}] \right\}$$

$$= \sum_{k=0}^{\infty} \frac{(a_1)_k \dots (a_l)_k}{(b_1)_k \dots (b_m)_k} \frac{a^k}{\Gamma(\alpha k + \beta)} \frac{1}{(2\pi i)^2}$$

$$\int_{L_s} \int_{L_t} \left\{ \varphi(s, t) \theta_1(s) \theta_2(t) z_1^s z_2^t \right.$$

$$\left. \times \prod_{j=1}^r (\lambda k - k_j + h_1 s + h_2 t) x^{\lambda k + h_1 s + h_2 t} \right\} ds dt$$

By writing [13]

$$(2.8) \prod_{j=1}^r (\lambda k - k_j + h_1 s + h_2 t) = \prod_{j=1}^r \frac{\Gamma(1 + \lambda k - k_j + h_1 s + h_2 t)}{\Gamma(\lambda k - k_j + h_1 s + h_2 t)}$$

in (2.7) and by using (1.1) we get equation (2.6).

Theorem 3. Prove that

$$(2.9) (D_X X - k_1)(D_X X - k_2) \dots (D_X X - k_r) \left\{ \begin{matrix} \alpha, \beta \\ 1 \quad m \end{matrix} M(a_1, \dots, a_l; b_1, \dots, b_m; ax^\lambda) I[z_1 x^{h_1}, z_2 x^{h_2}] \right\}$$

$$= \sum_{k=0}^{\infty} \frac{(a_1)_k \dots (a_l)_k}{(b_1)_k \dots (b_m)_k} \frac{(ax^\lambda)^k}{\Gamma(\alpha k + \beta)}$$

$$I_{p_1, q_1+r; p_2, q_2; p_3, q_3}^{0, n_1+r; m_2, n_2; m_3, n_3} \left[\begin{matrix} z_1 x^{h_1} \\ z_2 x^{h_2} \end{matrix} \left| \begin{matrix} (k_j - \lambda k - 1; h_1, h_2; 1)_{1, r} \\ (b_j; \beta_j, B_j; \eta_j)_{1, q_1} \end{matrix} \right. \right]$$

$$\left[\begin{matrix} (a_j; \alpha_j, A_j; \xi_j)_{1, p_1} : (c_j, C_j; U_j)_{1, p_2}; (e_j, E_j; P_j)_{1, p_3} \\ (k_j - \lambda k; h_1, h_2; 1)_{1, r} : (d_j, D_j; V_j)_{1, q_2}; (f_j, F_j; Q_j)_{1, q_3} \end{matrix} \right]$$

Where z, α, β and λ are complex numbers and h_1, h_2 are real and positive.

Proof. Proof is similar as proof of theorem 1 and 2.

3. SPECIAL CASES

(i) By writing $k_1 = k_2 = \dots = k_r = 0$ in (2.6), we get (3.1)

$$(xD_X)^r \left\{ \begin{matrix} \alpha, \beta \\ 1 \quad m \end{matrix} M(a_1, \dots, a_l; b_1, \dots, b_m; ax^\lambda) I[z_1 x^{h_1}, z_2 x^{h_2}] \right\}$$

$$= \sum_{k=0}^{\infty} \frac{(a_1)_k \dots (a_l)_k}{(b_1)_k \dots (b_m)_k} \frac{(ax^\lambda)^k}{\Gamma(\alpha k + \beta)}$$

$$I_{p_1, q_1+r; p_2, q_2; p_3, q_3}^{0, n_1+r; m_2, n_2; m_3, n_3} \left[\begin{matrix} z_1 x^{h_1} \\ z_2 x^{h_2} \end{matrix} \left| \begin{matrix} (-\lambda k; h_1, h_2; 1)_{1, r} \\ (b_j; \beta_j, B_j; \eta_j)_{1, q_1} \end{matrix} \right. \right]$$

$$\left[\begin{matrix} (a_j; \alpha_j, A_j; \xi_j)_{1, p_1} : (c_j, C_j; U_j)_{1, p_2}; (e_j, E_j; P_j)_{1, p_3} \\ (1 - \lambda k; h_1, h_2; 1)_{1, r} : (d_j, D_j; V_j)_{1, q_2}; (f_j, F_j; Q_j)_{1, q_3} \end{matrix} \right]$$

(ii) By taking $k_1 = k_2 = \dots = k_r = 0$ in (2.9), we get (3.2)

$$(D_X X)^r \left\{ \begin{matrix} \alpha, \beta \\ 1 \quad m \end{matrix} M(a_1, \dots, a_l; b_1, \dots, b_m; ax^\lambda) I[z_1 x^{h_1}, z_2 x^{h_2}] \right\}$$

$$= \sum_{k=0}^{\infty} \frac{(a_1)_k \dots (a_l)_k}{(b_1)_k \dots (b_m)_k} \frac{(ax^\lambda)^k}{\Gamma(\alpha k + \beta)}$$

$$I_{p_1, q_1+r; p_2, q_2; p_3, q_3}^{0, n_1+r; m_2, n_2; m_3, n_3} \left[\begin{matrix} z_1 x^{h_1} \\ z_2 x^{h_2} \end{matrix} \left| \begin{matrix} (-\lambda k - 1; h_1, h_2; 1)_{1, r} \\ (b_j; \beta_j, B_j; \eta_j)_{1, q_1} \end{matrix} \right. \right]$$

$$\left[\begin{matrix} (a_j; \alpha_j, A_j; \xi_j)_{1, p_1} : (c_j, C_j; U_j)_{1, p_2}; (e_j, E_j; P_j)_{1, p_3} \\ (-\lambda k; h_1, h_2; 1)_{1, r} : (d_j, D_j; V_j)_{1, q_2}; (f_j, F_j; Q_j)_{1, q_3} \end{matrix} \right]$$

(iii) For $\beta = 1$ in (2.1), (2.6) and (2.9), we get derivative formulae involving I-function of two variables involving Generalized M-series by Sharma [15], respectively (3.3)

$$D_X^r \left\{ \begin{matrix} \alpha \\ 1 \quad m \end{matrix} M(a_1, \dots, a_l; b_1, \dots, b_m; ax^\lambda) I[z_1 x^{h_1}, z_2 x^{h_2}] \right\}$$

$$= \sum_{k=0}^{\infty} \frac{(a_1)_k \dots (a_l)_k}{(b_1)_k \dots (b_m)_k} \frac{a^k}{\Gamma(\alpha k + 1)} x^{\lambda k - r}$$

$$I_{p_1, q_1+1; p_2, q_2; p_3, q_3}^{0, n_1+1; m_2, n_2; m_3, n_3} \left[\begin{matrix} z_1 x^{h_1} \\ z_2 x^{h_2} \end{matrix} \left| \begin{matrix} (-\lambda k; h_1, h_2; 1)_{1, r} \\ (b_j; \beta_j, B_j; \eta_j)_{1, q_1} \end{matrix} \right. \right] \left[\begin{matrix} (a_j; \alpha_j, A_j; \xi_j)_{1, p_1} : \\ (c_j, C_j; U_j)_{1, p_2}; (e_j, E_j; P_j)_{1, p_3} \\ (d_j, D_j; V_j)_{1, q_2}; (f_j, F_j; Q_j)_{1, q_3} \end{matrix} \right]$$

$$(3.4) (xD_X - k_1)(xD_X - k_2) \dots (xD_X - k_r)$$

$$\left\{ \begin{matrix} \alpha \\ 1 \quad m \end{matrix} M(a_1, \dots, a_l; b_1, \dots, b_m; ax^\lambda) I[z_1 x^{h_1}, z_2 x^{h_2}] \right\}$$

$$= \sum_{k=0}^{\infty} \frac{(a_1)_k \dots (a_l)_k}{(b_1)_k \dots (b_m)_k} \frac{(ax^\lambda)^k}{\Gamma(\alpha k + 1)}$$

$$I_{p_1, q_1+r; p_2, q_2; p_3, q_3}^{0, n_1+r; m_2, n_2; m_3, n_3} \left[\begin{matrix} z_1 x^{h_1} \\ z_2 x^{h_2} \end{matrix} \left| \begin{matrix} (k_j - \lambda k; h_1, h_2; 1)_{1, r} \\ (b_j; \beta_j, B_j; \eta_j)_{1, q_1} \end{matrix} \right. \right] \left[\begin{matrix} (a_j; \alpha_j, A_j; \xi_j)_{1, p_1} : \\ (c_j, C_j; U_j)_{1, p_2}; (e_j, E_j; P_j)_{1, p_3} \\ (1 + k_j - \lambda k; h_1, h_2; 1)_{1, r} : (d_j, D_j; V_j)_{1, q_2}; (f_j, F_j; Q_j)_{1, q_3} \end{matrix} \right]$$

$$(3.5) (D_X X - k_1)(D_X X - k_2) \dots (D_X X - k_r)$$

$$\left\{ \begin{matrix} \alpha \\ 1 \quad m \end{matrix} M(a_1, \dots, a_l; b_1, \dots, b_m; ax^\lambda) I[z_1 x^{h_1}, z_2 x^{h_2}] \right\}$$

$$= \sum_{k=0}^{\infty} \frac{(a_1)_k \dots (a_l)_k}{(b_1)_k \dots (b_m)_k} \frac{(ax^\lambda)^k}{\Gamma(\alpha k + 1)}$$

$$I_{p_1, q_1+r; p_2, q_2; p_3, q_3}^{0, n_1+r; m_2, n_2; m_3, n_3} \left[\begin{matrix} z_1 x^{h_1} \\ z_2 x^{h_2} \end{matrix} \left| \begin{matrix} (k_j - \lambda k - 1; h_1, h_2; 1)_{1, r} \\ (b_j; \beta_j, B_j; \eta_j)_{1, q_1} \end{matrix} \right. \right]$$

$$\left[\begin{matrix} (a_j; \alpha_j, A_j; \xi_j)_{1, p_1} : (c_j, C_j; U_j)_{1, p_2}; (e_j, E_j; P_j)_{1, p_3} \\ (k_j - \lambda k; h_1, h_2; 1)_{1, r} : (d_j, D_j; V_j)_{1, q_2}; (f_j, F_j; Q_j)_{1, q_3} \end{matrix} \right]$$

(iv) By substituting $l = m = 0$ in (2.1), (2.6) and (2.9), we have derivative formulae of I-function of two variables involving Mittag-Leffler function respectively

$$(3.6) D_X^r \left\{ E_{\alpha, \beta}(ax^\lambda) I[z_1 x^{h_1}, z_2 x^{h_2}] \right\}$$

$$= \sum_{k=0}^{\infty} \frac{a^k}{\Gamma(\alpha k + \beta)} x^{\lambda k - r}$$

$$\begin{aligned} & \Gamma_{P_1, Q_1+1; P_2, Q_2; P_3, Q_3}^{0, n_1+1; m_2, n_2; m_3, n_3} \left[\begin{matrix} z_1 x^{h_1} \\ z_2 x^{h_2} \end{matrix} \middle| \begin{matrix} (-\lambda k; h_1, h_2; 1) \\ (b_j; \beta_j, B_j; \eta_j)_{1, q_1} \end{matrix} \right. \\ & \left. (a_j; \alpha_j, A_j; \xi_j)_{1, p_1} : (c_j, C_j; U_j)_{1, p_2} : (e_j, E_j; P_j)_{1, p_3} \right] \\ & (r - \lambda k; h_1, h_2; 1) : (d_j, D_j; V_j)_{1, q_2} : (f_j, F_j; Q_j)_{1, q_3} \end{aligned}$$

$$(3.7) (xD_X - k_1)(xD_X - k_2) \dots (xD_X - k_r) \left\{ E_{\alpha, \beta}(ax^\lambda) I[z_1 x^{h_1}, z_2 x^{h_2}] \right\}$$

$$= \sum_{k=0}^{\infty} \frac{(ax^\lambda)^k}{\Gamma(\alpha k + \beta)}$$

$$\begin{aligned} & \Gamma_{P_1, Q_1+r; P_2, Q_2; P_3, Q_3}^{0, n_1+r; m_2, n_2; m_3, n_3} \left[\begin{matrix} z_1 x^{h_1} \\ z_2 x^{h_2} \end{matrix} \middle| \begin{matrix} (k_j - \lambda k; h_1, h_2; 1)_{1, r} \\ (b_j; \beta_j, B_j; \eta_j)_{1, q_1} \end{matrix} \right. \\ & \left. (a_j; \alpha_j, A_j; \xi_j)_{1, p_1} : (c_j, C_j; U_j)_{1, p_2} : (e_j, E_j; P_j)_{1, p_3} \right] \\ & (1 + k_j - \lambda k; h_1, h_2; 1)_{1, r} : (d_j, D_j; V_j)_{1, q_2} : (f_j, F_j; Q_j)_{1, q_3} \end{aligned}$$

$$(3.8) (D_X x - k_1)(D_X x - k_2) \dots (D_X x - k_r)$$

$$\left\{ E_{\alpha, \beta}(ax^\lambda) I[z_1 x^{h_1}, z_2 x^{h_2}] \right\}$$

$$= \sum_{k=0}^{\infty} \frac{(ax^\lambda)^k}{\Gamma(\alpha k + \beta)}$$

$$\begin{aligned} & \Gamma_{P_1, Q_1+r; P_2, Q_2; P_3, Q_3}^{0, n_1+r; m_2, n_2; m_3, n_3} \left[\begin{matrix} z_1 x^{h_1} \\ z_2 x^{h_2} \end{matrix} \middle| \begin{matrix} (k_j - \lambda k - 1; h_1, h_2; 1)_{1, r} \\ (b_j; \beta_j, B_j; \eta_j)_{1, q_1} \end{matrix} \right. \\ & \left. (a_j; \alpha_j, A_j; \xi_j)_{1, p_1} : (c_j, C_j; U_j)_{1, p_2} : (e_j, E_j; P_j)_{1, p_3} \right] \\ & (k_j - \lambda k; h_1, h_2; 1)_{1, r} : (d_j, D_j; V_j)_{1, q_2} : (f_j, F_j; Q_j)_{1, q_3} \end{aligned}$$

$E_{\alpha, \beta}(ax^\lambda)$ is Mittag-Leffler function [6].

(v) Writing $\alpha = \beta = 1$ in (2.1), (2.6) and (2.9), we obtain derivative formulae of I-function of two variables involving generalized hyper geometric function [5] respectively

$$(3.9) D_x^r \left\{ F_m(ax^\lambda) I[z_1 x^{h_1}, z_2 x^{h_2}] \right\} = \sum_{k=0}^{\infty} \frac{(a_1)_k \dots (a_l)_k}{(b_1)_k \dots (b_m)_k} \frac{a^k}{k!} x^{\lambda k - r}$$

$$\begin{aligned} & \Gamma_{P_1, Q_1+1; P_2, Q_2; P_3, Q_3}^{0, n_1+1; m_2, n_2; m_3, n_3} \left[\begin{matrix} z_1 x^{h_1} \\ z_2 x^{h_2} \end{matrix} \middle| \begin{matrix} (-\lambda k; h_1, h_2; 1) \\ (b_j; \beta_j, B_j; \eta_j)_{1, q_1} \end{matrix} \right. \\ & \left. (a_j; \alpha_j, A_j; \xi_j)_{1, p_1} : (c_j, C_j; U_j)_{1, p_2} : (e_j, E_j; P_j)_{1, p_3} \right] \\ & (r - \lambda k; h_1, h_2; 1) : (d_j, D_j; V_j)_{1, q_2} : (f_j, F_j; Q_j)_{1, q_3} \end{aligned}$$

$$(3.10) (xD_X - k_1)(xD_X - k_2) \dots (xD_X - k_r)$$

$$\left\{ {}_1F_m(ax^\lambda) I[z_1 x^{h_1}, z_2 x^{h_2}] \right\}$$

$$= \sum_{k=0}^{\infty} \frac{(a_1)_k \dots (a_l)_k}{(b_1)_k \dots (b_m)_k} \frac{(ax^\lambda)^k}{k!}$$

$$\begin{aligned} & \Gamma_{P_1, Q_1+r; P_2, Q_2; P_3, Q_3}^{0, n_1+r; m_2, n_2; m_3, n_3} \left[\begin{matrix} z_1 x^{h_1} \\ z_2 x^{h_2} \end{matrix} \middle| \begin{matrix} (k_j - \lambda k; h_1, h_2; 1)_{1, r} \\ (b_j; \beta_j, B_j; \eta_j)_{1, q_1} \end{matrix} \right. \\ & \left. (a_j; \alpha_j, A_j; \xi_j)_{1, p_1} : (c_j, C_j; U_j)_{1, p_2} : (e_j, E_j; P_j)_{1, p_3} \right] \\ & (1 + k_j - \lambda k; h_1, h_2; 1)_{1, r} : (d_j, D_j; V_j)_{1, q_2} : (f_j, F_j; Q_j)_{1, q_3} \end{aligned}$$

$$(3.11) (D_X x - k_1)(D_X x - k_2) \dots (D_X x - k_r)$$

$$\left\{ {}_1F_m(ax^\lambda) I[z_1 x^{h_1}, z_2 x^{h_2}] \right\}$$

$$= \sum_{k=0}^{\infty} \frac{(a_1)_k \dots (a_l)_k}{(b_1)_k \dots (b_m)_k} \frac{(ax^\lambda)^k}{k!}$$

$$\begin{aligned} & \Gamma_{P_1, Q_1+r; P_2, Q_2; P_3, Q_3}^{0, n_1+r; m_2, n_2; m_3, n_3} \left[\begin{matrix} z_1 x^{h_1} \\ z_2 x^{h_2} \end{matrix} \middle| \begin{matrix} (k_j - \lambda k - 1; h_1, h_2; 1)_{1, r} \\ (b_j; \beta_j, B_j; \eta_j)_{1, q_1} \end{matrix} \right. \\ & \left. (a_j; \alpha_j, A_j; \xi_j)_{1, p_1} : (c_j, C_j; U_j)_{1, p_2} : (e_j, E_j; P_j)_{1, p_3} \right] \\ & (k_j - \lambda k; h_1, h_2; 1)_{1, r} : (d_j, D_j; V_j)_{1, q_2} : (f_j, F_j; Q_j)_{1, q_3} \end{aligned}$$

REFERENCES

- [1] Erdelyi A., *Higher Transcendental Functions*, Vol. I, McGraw-Hill Book Company, New York. (1953).
- [2] Fox C., The G and H-functions as symmetrical Fourier kernels, *Trans. Amer. Math. Soc.* 98(1961), 395-429.
- [3] Goyal S P., The H-function of two variables, *Kyungpook Math. J.* 15, no.1(1975), 117-131.
- [4] Gupta K C. and Jain. U.C., On the derivative of the H-function, *Proc. Nat. Acad. Sci. India. Sect. A* 38(1968), 189-192.
- [5] Mathai A M., Saxena R K and Haubold H J., *The H-function, Theory and applications*, Springer (2009).
- [6] Mittag G M-Leffler., *Sur la nouvelle fonction E_a(x)*, *C.R.Acad.Sci., Paris (ser.II)* 137 (1903), 554-558.
- [7] Nair V C., Differentiation formulae for the H-Function I, *Math. Student*, 40A(1972), 74-78.
- [8] Podlubny I., *Fractional differential equations*, Acad. Press, San Diego-N.York etc. (1999).
- [9] Pragathi Kumar Y, Prakash Rao L and Satyanarayana B., Derivatives involving I-function of two variables and general class of polynomials, *BJMCS* (in press).
- [10] Rainville E D., *Special Functions*, Macmillan Publishers, New York, (1963).
- [11] Rathie Arjun K., A new generalization of generalized hypergeometric functions, *Le Mathematice Vol.LII. Fasc.II* (1997), 297-310.
- [12] Satyanarayana B, Lam Prakas and Pragathi Kumar Y., Expansion formulas for I-function, *Journal of Progressive Research in Mathematics*, 3(2)(2015), 161-166.
- [13] Shantha Kumari K, Vasudevan Nambisan T M. and Arjun K Rathie., A study of I-function of two variables, arXiv: 1212.6717v1 [math.CV], 30 Dec., 2012.
- [14] Shantha Kumari K and Vasudevan Nambisan T.M., On certain derivatives of the I-function of two variables, *International journal of Science, Environment*, 2 (2013), 772-778.
- [15] Sharma M., Fractional integration and fractional differentiation of M-series, *Fract. calc. Appl. Anal.* II, no.2 (2008), 187-192.
- [16] Sharma M and Renu Jain, A notes on generalized M-series as special function of fractional Calculus, *Fract. Calc. Appl. Anal.* 4, no.12 (2009), 449-452.
- [17] Vishwa Mohan Vyas and Arjun K. Rathie., A study of I-function - II, *Vijnana Parishad Anusandhan Patrika*, Vol.41, 4(1998), 253-257.